BE (I-Hith& T SYME R -BET(IBTHETH 2 RAT) K (m) |[RE(m) | BEE(m) | #EFKE (m3)
1| FHIRET- M1 WO(EDF0 LM T RBHET = B 3 SRR 493 36 79 70 50000
2| FHARR=HiHh2 WRESF80MF2 B AT = 4k FH 55 504 4 8.3 54 20192
3| Bf-Hih fzICH=®H LT BERTF 1A 1151 4 29 23 1638
AEES NP LoDbiz®hl T2 BEFaL3-1 5 438 18 832
5|2 DEZHHM ESDS5T=HLNMTF1 BIERFE /#2791, 279-2 2 48 26 2696
6lEAT=Hith1 THAISF=5HUVTF BERFE A353-1 2 6.4 23 7123
1|BELOHH Lotz BYE F1E T2031-1 4 9 57 42000
8| KB 1-tith BEEICEHNT BEFAA2534-1 3 6.2 59 12000
9| HEDARBI-Hith SHDELICEOHLIT F & 515208 3 6.3 44 17861

10[Fsidf=ith KLASSIzHLMF & /7 3#349 3 4.1 30 5195
LB T=8Ht PEDFITFHWNIT FI R HIZ418 4 46 18 4490
12{db/iET=&Hith2 E-D551=HLMF2 L/;Hi664 2 5.3 34 3509
R X 13[dt /5@t EDI57=HLNTF L/ ;%650 2 42 36 1485
14[8F#T-sHi SHNSSFHLMTF 55718023 5 4 21 780
15ED BTt S5NFITF=HLITF Bl 2 3.7 20 4181
16 [{hmEf=shih EhEHLIT 2 45 25 3438
17[35HE=%H IFS1z0 LT 1.8 2.1 42 4933
18| Fi5f-ith LWLIEESHWLT 0.8 42 28 1155
19|Fh B f- i IS FH 3 7.6 40 32862
20[h B F-&Hith2 BEMNICF=HLN T2 25 45 24 2525
21[FEK =8O ISAH T F=H LT B T BR357-1 2 52 42 19172
22[)\Eh. =it PRDESIZHLMT B FF/\E#502-2 1.5 24 18 962
B [FRE-HM HoUBHLIT BT FkE1447 2 38 25 4560
24| BBA=&ith UHITT=HULT F R 111970 1.5 3.7 68 6293
25| KIpf-8ith FLSH=HL T = 3 45 32 2403
26|23 5:HT=H it FEbETHLNT 1 22 23 528
27/ =8t CIEEHNT 2 4.1 23 3900
28| EERT-OM L&S A EISTzLM T AEFEERSI 35 3.2 65 4412
29| HARH=Hih HESIHULNT i FHKMA782 3.2 35 30 1834
30[H/E=Hith VD55F=HLMT LT REFH/EM8 2 2.9 44 2108
3[E/R=Hih HODEST=HLN T TEEFE/E1194 3 52 27 4597
32|[iE-&Hith FhiYUizHLT T EAFHEE1592 3 2.8 38 6810
33|[FUIHET-hith EEYLET-HULNT i = Y] 1667 25 2.8 18 3553
34|EARRIRT- it CFEIDHLIS B AHFIEM608 3 35 28 4774
35|45 /chf-sHith LIFDAEMzHLTF SABFLE/ BT 75 2.3 24 819
Bk 36| E=-&Hith SLAEESHLIT FIN\E1676 1 3 18 600
37[AE=HiHh ISEEAT=HLIT 1794 15 3.7 19 1260
38| EBiIf=&Hith UALEZFHLT FELAI2343 2 37 72 4714
39[ Rz BENEX=HLT Ri12376 15 6.2 25 2015
40| FRifz&ith LEFEZEHVZT Bi12403 1.6 1.8 21 580
41 | SEEF-&Hith1 DL 52O T 52442 4 52 33 3016
42| S8R Hih2 AL 5F=HLNF2 52459 1.8 1.6 18 310
43[EER=Hi MLELLI= LT EH3152 2 42 25 5321
44| TFRzHH2 LEDIEBHT=HLT F 52030 4 39 23 2391
45| FE-Hith SEHWT =4431 2.2 2.7 35 1760
46[ IO =it PECHEHLITT L1 044981 2 6.2 35 5700
47[IlOf=8%ith2 PECEEHLIF2 F11114498-2 3 6.8 4 3000
48|/ g R B2 CIEfbizhLMT2 HAFIF 25823 25 4 33 1200
494K &ith VOHF=HLIT HAFHK1126 3 3.1 19 1755
50[dLEf=shith EEELY b REIEET = L IR 346 2 2.9 43 1612
51[=vikt-oith HOZEETHLIT AE¥E=F = w1%378 2 39 30 4087
52[ 1@ 7-8hith PEHLIHLIT 35 46 34 3211
53| E3riRf-shith hHEYSHIZHLT + | $7323378 2 42 27 3272
54| Fa4iET-&Hith ISLAS 560N T 7 79/ 5H1539-1 35 8 44 15600
55|F R Af-&Hith CAETZHWL T 3 6 34 15498
56 R E7T=8h;th FAEEHLT 5 5.6 30 5673
57|22 Ri-thih ft=ot=HL T 2 6.8 49 8548
58[/NE R Rf-%Hith ClzbfzhLMt 3 3.9 32 4898
59 [#EMT-Oith FChEHLMT 2 47 25 5147
60 Ti% LE32# 4 8 33 19952
61 FiE MNHDDH 2 8 18 15544
AR 62| +BE-Oith LEELHWLT 1.5 3 20 1302
63[CET=ith Sof=HLNT 4 3.8 49 13988
64|tFERf-8Dith IFEEYF=HLNMT 2 3.1 21 1609
65[FF)If=shith ToWLWAbhi=HLr T 3 46 34 6941
66| A FET-8Hh2 WIES =L F2 1 3.8 24 3557
67| BTt OALECEHLT 3 42 28 2184
68| FF)If=5Hith LEWLWAHi= LT 1.6 3.7 30 1800
69|31 HT-8hith BLASCEOHLIT 5.6 47 50 12250
T0[IRILf-D M ANFOFELHLT 5 44 34 2325
T[RRIt WAShEICF=H LT 3 48 55 13170
72| {3818 ith [FEFESTEHLIT 5 4.9 45 3822
73|FET-h:th MEFFH LT 46 2.8 28 1936
74| BR =it (F) HKBEREHWLIF(5) 22 35 33 858
75| %R 1-ith2 (F) KbIEB=HLNMF2(LT) 1 35 22 650
76[REET-8hith FDIFY=HWL T 22 3 44 1872
T7[REE -1 (E FDIEFYHWIFI1(5X) 25 1.9 37 504
18| BEE - ith2 () FDIFEYHULF2 () 25 1.9 37 513
79[BEEF-h 3 (T) FDEFYEHWLFI(LE) 35 3.8 25 2828
80| A iHT=thith IZLAS5=8H LT 3 3.4 32 2992
81[ithEH7=ith WHEESHLT 33 3.9 28 5370
TIETF- 82| EH =t FHASHT- LT 2.2 4.8 45 2976
oo 83|/ T8 ith2 WHASHFzH LN TF2 TRTFE7iE1023 24 2.8 16 1020
IZ‘ 84| KET-&Hith BHBT-HLIT TR FFKE1355 1.4 2.2 20 468
85| A /Hf=8ith2 DEDS5T-HLMF2 TIRTFH/:E1476-1 22 3 20 720
86| HEI-&Hith1 EAESTZHLNMTT TR FFHE4157 35 3.4 20 2040
87 [hEALOMI(E) [AALIFLEOHVFIGR)TRT H2604 2 3 20 1120
88| BER-HOM2(T) [HEMLIFLSIHWLMF2(LE)|TIRT FE604 1.8 4.7 51 484
89|H B TFI=&ith f=uLB=HLNT MY EFHE197 3.1 2.2 24 636
90|HE Ef&Hith o FH=HNT MY EFHE210 238 3 273 720
91 [FLi8 5E02H mYRFFI1164 15 35 421 3031




